
   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2x I 
28. What is iim!.....:.... ? 

x~ taux 

(A) - 1 (B) 0 (C) I (D) 2 

42. If J x2cosx d.t- = / (x) - J 2xsinxdx, then / (x) = 

(A) 2sinx+ 2xcosx+C 

(B) x1 sinx+C 

(C) 2xcosx- x2 sinx +C 

(D) 4cosx-2xsinx ... C 

(E) {2 - x2)cosx- 4sinx+C 

(E) The limit does not exist. 

17. The nwnber ofbacteria in a culrure is growing at a rate of 3,ooo..lJ/5 peruoit of timer. At i =0, 
the number of bacteria present was 7,500. Find the number present at i • 5. 

(A) I, 200e1 (B) 3, 000.,l 

23. lim .!.1n( 2+J,) is 
IHOh 2 

(A) el (B) I 

36 JI x+I ax · 
. , lS 0 :r+2x- 3 

(A) - ln,/3 

Jim 
1-cos2(2x) 

37. , 
... ~ x-

(A) -2 

(B) - 1n,/3 
2 

(B) 0 

(C) 7,500.2 

(C) 1 
2 

l - ln,/3 
(C) 

2 

(C) I 

(D) 0 (E) nonexistent 

(D) tn,/3 (E) dni,rgent 

(D) 2 (E) 4 

12. J (x- l:x+2) = 

(A) .!.1nl x - 1 l+c .!.1nl n 2 l+c 
I 

3 x+2 
(B) 

3 x- 1 
(C) 3lnl(x- 1Xx +2) l+C 

(D) {lnlx- l l){lnlx +2 l)+C (E) 1n1 (x- l)(x+ 2)2 l+C 

23. 
J1~~~+8dx 

~ I h is 

(A) 0 (B) (C) 3 (D) 2.fi (E) nonwsteru 

36. J1 3 dx 
- 1 Xl lS 

(A) -6 (B) -3 (C) 0 (D) 6 (E) nonexistent 

I 

38. ,~{1+5.X)' is 

(A) 0 (3) I (C) e (D) .s (E) nonexistent 

45. Ifn isa positiveintege,. lhen ~ ~[(~f .. rnr + .. .. (3:.'Y] caube exp,essed .. 

7. 

(A)J
1 1

dx 07 

I 
... dx . 
2 7 •• 

I 
(A) 2 (B) In 2 

(C) r ' (.!.)
2 

ax 
• 0 X 

(C) 1 (D) 2 (E) nonexistent 
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16. J xe2' dx = 

2J: 2x 
(A) ~ -.!._+c 

2 4 

xe2x elr 
(B) ---+C 

2 2 

xe2x elr 
(C) - +- +C 

2 4 

xe2J: ;x 
(D) - +- +C 

2 2 

17 J 3 3 dx -
. 2 (x - 1Xx+ 2) -

(A) 
33 

(B) 
9 

(C) 
bi(%) (D) bi( ¾) (E) 

bi( ¾) 20 20 

3;_ If kis a positive integer, then liD x' is 
x~ex 

(A) 0 (B) 1 (C) • (D) k! (E) uoue.'tistent 

43. Bac.t~ria in a certain culture increaSE at a :ate proportional to the. m.nnberprescut. If the. i:.umber of 
bacteria doubles in~ hours. in how mmy hours will the n11Dbe1 of bacteri1 triple? 

(A.) 3bi3 
- l.u 1 

J
., - 2x . 

ll. ~ dx,s 
• 9- x2 

' (A) 71 

29. J xsec1xdx = 

(A) x tanHC 

(B) 
2bi3 
lu2 

(D) x tanx - bilcosx l+C 

(C) bi3 
lu2 (D) bicn (E) 1n(f) 

x' (B) 2 tan x+C 

(E) x tanx+ lnlccu l+C 

38. During a certain epideuic, the munber of people that are infected at any time increases at a rate 
proportional to the number of people that are. infected at that time. If 1,000 people m infected 
when the. epidemic is first discovered, and 1,200 are. infected 7 da}~ later, how many people are 
infected 12 da}~ after the epidemic is first discovered? 

(A) 343 (E) 1,343 

ll. J""- '- dx is 1 (1-J. .,l)l 

(A) (3) 
4 

16. r J - 1 . 
~Jh lS 

' !>,.) 0 \B) 
2 

84. J x2 sinxdt= 

(A) - x1cosx - 2xSllx - 2cos x+C 

(B) - x1cosx+2xSllx - 2cosx+C 

(C) - x2cosx+2xSllx+2cosx+C 

(D) 
x· 

--oosx+C 
l 

(E) 2r cosx +C 

(C) 1,367 (D) 1,400 (E) 2,057 

(C) 4 (D) 
2 

(E) divergent 

(C) 1 (D) • (E) non<e<istent 
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dx 
86· J (x- l)(x+3) = 

(A) .!.1nl x- 11+c 
4 x +3 

(B) .!.1nl x+ 31+ C 4 x - 1 

(C) ½tnl (x - l)(x + 3)1+ C 

(D) 1 lnl 2x+2 I C 2 (x - l)(x +3) + 

(E) inl(x- l)(x+3)l+C 

4. 
I I , dx = 

.r-6x+8 

(A) .!.1n1.r- 4 l+c 
2 x-2 

(B) .!.1nl .r - 21+c 
2 x-4 

(C) 
I 

2tnl (x- 2)(x- 4)1+ C 

(D) ½tnl (.r-4)(x+2)1+ C 

(E) lnl(x- 2)(.r- 4) l+C 

15. J xcosxdx • 

(A) xsinx - cosx+C 

(B) xsinx+cosx+C 

(C) - xsinx+cosx+C 

(D) xsinx+C 

(E) I l . C - x smx -
2 

22. If lim f 1° dxp is finite, then which of the following must be true? 
6-:o• X 

~ I 
(A) L - converges 

n-1 nP 

~ I 
(B) L P dive,ges 

n-1 n 

~ I 
(C) L p-l converges 

n-1 1J 

~ I 
(D) L -

1 
converges 

n-1 nP-

~ I . 
(E) L _..1 diverges 

n-1 1J 

26. The population P(j) of a sp«i<s satisfies tht logistic diffemuial equation '! = P( 2 - s:ia). 
where tbt initial pop,tlation P(O) = 3,000 and tis the time in yean. What is lim P(t)? ,_, 
(A) 2,500 (B) 3, 000 (C) 4, 200 (D) 5,000 (E) 10,000 

28. 
f' l d, 

lim l . -- lS 
x~ l x2- l 

(A) 0 (B) I (C) • (D) 2 • (E) nonexistent 

1998 



 

 

1969 BC 1973 BC 

I. A 24. A 
1985 BC 1988 BC 

I. C 24. C 
2. E 25. A 2. D 25. B I. D 14. V I. A 24. D 
3. B 26. C 3. A 26. D 2. A 25. C 2. D 2l. D 
4. D 27. C 4. C 27. E 3. B 26. E 3. D 26. C 

5. E 28. D 5. B 28. C 4. D 27. E 4. E 27.B 

6. B 29. C 6. D 29. A 5. D 28. E ) . c.; 28. E 

7. D 30. D 7. D 30. B 6. E 29. D 6. C 29. B 

8. C 31.C 8. B 31. E 7. A 30. B 7. A 30. C 

9. D 32. B 9. A 32. C 8. C 31.D 8. A 31. C 

10. A 33. A 10. A 33. A 9. B 32. E 9. D 31. E 

11. B 34. D 11. E 34. C 10. A 33. C 10.D E E 

12. E 35. A 12. D 35. C II.A 34. A II. A 34. C 

13. C 36. B 13. D 36. E 12. A 35. B 12.B 35. A 

14. D 37. D 14. A 37. E 13. B 36. E 13.D 36. E orD 

15. B 38. A 15. C 38. B 14. C 37. A 14.A 37. D 

16. B 39. D 16. A 39. D 15. C 38. C 15.E ,8. C 

17. B 40. E 17. C 40. C 16 C: 39. A 16 A 39. C 

18. E 41. D 18. D 41. D 17. B 40. A 17.D 40. E 

19. C 42. B 19. D 42. D 18. C 41.C 18.E 41. B 

20. A 43. E 20. E 43. E 19. D 42. E 19.B 41. A 

21. B 44. E 21. B 44. A 20. C 43. E 20.E 4 j . A 

22. E 45. E 22. C 45. E 21. B 44. A ?1 n 44. A 

23. D 23. C 22. A 45. D 22.E 4l. B 

23. C 23.E 

1998BC 

1993 BC I. C 24. C 

I. A ?4 C: 2. A 25.C 

2. C 25. D 
1997 BC J. D 26.E 

3. E 26. B 4. A 27. D 

4. B 27. C I. C 21. A 5. A 28. C 

5. D 28. A 2. E 22. C 6. E 76. D 

6. A 19. J::: 3. A 23. E 7. E 77. E 

7. A 30. C 4. C 24. D 8. B 78. B 
8. B 31. A 5 C: 25. A 9. D 79. A 
9. D 32. B 6. A 76. D 10. E 80. B 
10. E 33. A 7. C 77. E II.A 81. B 
11. E 34. E 8. E 78. A 12. E 82. B 
12. E 35. A 9. A 79. D 13. B 83. C 
13. C 36. E 10. B 80. B I~. E 84. B 
14 R 37. B 11. C 81. D 
15. D 38. C 12. A 82. B 

15. B 85.C 

16. A 39. C 13. B 83. E 
16. C 86. C 

17. A 40. C 14. C 84. C 17. D 87. D 

18. B 41. C 15. D 85. D 
18. B 88. C 

19. B 42. E 16. B 86. A 
19. D 89. A 

20. r H . A 17. B 87. B 20. E 90. A 

21. A 44. E 18. C 88. C 
21. C 91. E 

22. B 45. D 19. D 89. D 
22. A 92. D 

23. D 10. J::: 90. B 23. E 


